HOMEWORK 22

1. Solve the following linear systems of equations

Ty —x9+x3 = 2
(a) 2p —xg—xg = 2
—r1—3r3+x3 = —4

r1—zo+x3 = 1

(b) 2CL‘1 — X9 — I3 = 0
5%1 - 3x2 — X3 = 2
rT1—x2+x3 = 1

(c) 2] — w9 — w3 0
51‘1 — 31‘2 — X3 = 1

Ty —x2+x3 = 1
(d) 21 —2x0 4+ 223 = 2
—51‘1 + 51‘2 — 51‘3 = -5

2. Determine whether the members of the given set of vectors are linearly independent. If

they are linearly dependent, find a linear relation among them.

1 1 0

@uv=|1|,m=]|0],3=1|1

| 0] | 1] |1

[ 2] [0 ] -1
Mo=|1|m=|1|m=] 2

| 0] | 0 | 0

[ 1 ] [ 2] [ 1]
(C)U—f: 2 )U—é: 1 7U—3>: -1

| -1 ] | 1] 2]

[ 1 ] [ 3] [ 2 ] 4

| —2 | 0] 1] -2

3. Find the eigenvalues and eigenvectors of the following matrices
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